Mrs. Gregory & Mrs. Postlethwuite's group —

4a. Match the pairs. Which is the odd one

out?

X

PS

4b. Match the pairs. Which is the odd one
out?

0.75
W .

5a. Sidney the snail travels 0.25m in one

hour. Lucy the ladybird travels

50

200 ——m in one hour. Who travels furthest?

Explain how you know.

W

5b. Sammy the spider can run 5min 0.75
of a minute. Barry the beetle can run 5m
in % of a minute. Who can run the
fastest?

Explain how you know.

6a. I'm thinking of a decimal.
The hundredths digit is five.
It is equal to one quarter.

What is my decimal?

W

P5

6b. I'm thinking of a fraction.
The numerator is 9.
It is equivalent to 0.75.

What is my fraction?

¢

PS




